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(ALL BATCHES) 
DATE: 04.09.2018   MAXIMUM MARKS:100             TIMING: 3¼Hours 
 

FINANCIAL MANAGEMENT & ECONOMICS FOR FINANCE 
 

SECTION - A 

Q. No. 1 is compulsory. 

Candidates are also required to answer any four questions from the remaining five 

questions. 

In case, any candidate answers extra question(s)/sub-question(s) over and above 

the required number, then only the requisite number of equestions first answered 

in the answer book shall be valued and subsequent extra question(s) answered 

shall be ignored. 

Working Notes should form part of the respective answer. 

 

Question 1: 

(a) A company had the following Balance Sheet as on 31st March, 2014: 

Liabilities (Rs. in 

Cores) 
Assets (Rs. in 

cores) 

Equity Share Capital (50 lakhs 

shares of Rs. 10 each) 

5   

Reserves and Surplus 1 Fixed Assets (Net) 12.5 

15% Debentures 10 Current Assets 
 

7.5 

Current Liabilities 4   

 20  20 

The additional information given is as under: 

Fixed cost per annum (excluding interest) Rs. 4 crores 

Variable operating cost ratio 65% 

Total assets turnover ratio 2.5 

Income Tax rate 30% 

Required:  

Calculate the following and comment:  

(i) Earnings Per Share  

(ii) Operating Leverage  

(iii) Financial Leverage  

(iv) Combined Leverage 

(5 Mark) 

(b) Using the following information, complete this balance sheet: 

Long-term debt to net worth 0.5 to 1 

Total asset turnover 2.5 x 

Average collection period* 18 days 

Inventory turnover 9 × 

Gross profit margin 10% 

Acid-test ratio 1 to 1 

  

*Assume a 360-day year and all sales on credit. 

 Rs.  Rs. 

Cash – Notes and payables 1,00,000 
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Accounts receivable – Long-term debt — 

Inventory – Common stock 1,00,000 

Plant and equipment – Retained earnings 1,00,000 

Total assets – Total liabilities and equity — 

(5 Mark) 

 

(c) Amita Ltd’s operating income is Rs. 5,00,000. The firm’s cost of debt is 10% and 

currently the firm employs Rs. 15,00,000 of debt. The overall cost of capital of the 

firm is 15%. 

You are required to determine: 

(i) Total value of the firm. 

(ii) Cost of equity. 

(5 Mark) 

  

(d)  Ganapati Limited is considering three financing plans. The key information is as 

follows: 

(a) Total investment to be raised Rs. 2,00,000 

(b) Plans of Financing Proportion: 

Plans Equity Debt Preference Shares 

A 100% – – 

B 50% 50% – 

C 50% – 50% 

(c) Cost of debt    8% 

Cost of preference shares  8% 

(d) Tax Rate    50% 

(e) Equity shares of the face value of Rs. 10 each will be issued at a premium of 

Rs. 10 per share. 

(f) Expected EBIT is Rs. 80,000. 

You are required to determine for each plan: - 

(i) Earnings per share (EPS) 

(ii) The financial break-even point. 

(iii) Indicate if any of the plans dominate and compute the EBIT range among the 
plans for indifference. 

(5 Mark) 

 

Question 2: 

(a) ABC is in the manufacturing aluminum component. It wants to expand for which it 

needs additional machine. The firm can either buy or take the machine on lease. The 

machine can be purchased for Rs. 30 lacs. It will have a useful life of 5 years with 

residual value of Rs. 2,00,000 after the expiry of 5 years. The purchase can be 

financed by 15% loan payable in equal instalments (principal +interest) payable at 

the end of each year for 5 years. Else the machine can be taken on lease at a lease 

rental of Rs. 9,00,000 per annum payable at the end of each year for 5 years. The 

depreciation for tax purpose is to be charged as per reducing balance method. The 

rate of depreciation is 25% per annum. Tax rate is 40%. Maintenance expenses of the 

machine is Rs. 50,000 per annum and the expenditure is to be born by the lessee. 

Show which option is better – lease or buy? Clearly demonstrate cash flow analysis 

and other workings.  
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(5 Mark) 

(b) Explain Linter Model? 

(5 Mark) 

 

Question 3: 

Aneja Limited, a newly formed company, has applied to the commercial bank for the 

first time for financing its working capital requirements. The following information is 

available about the projections for the current year: Estimated level of activity: 

1,04,000 completed units of production plus 4,000 units of work-in-progress. Based 

on the above activity, estimated cost per unit is: 

Raw material Rs. 80 per units 

Direct wages Rs. 30 per units 

Overheads (exclusive of depreciation) Rs. 60 per units 

Total Cost Rs. 170 per units 

Selling Price Rs. 200 per units 

 Raw materials in stock: Average 4 weeks consumption, work-in-progress (assume 

50% completion stage in respect of conversion cost) (materials issued at the start of 

the processing).  

 Finished goods in stock 8,000 units  

 Credit allowed by suppliers Average 4 weeks  

 Credit allowed to debtors/receivablesAverage 8 weeks  

 Lag in payment of wages Average 1.5 weeks  

 Cash at banks (for smooth operation) is expected to be Rs.  25,000.  

 Assume that production is carried on evenly throughout the year (52 weeks) and 

wages and overheads accrue similarly. All sales are on credit basis only.  

 You are required to calculate the net working capital required.  
(10 Mark) 

  

Question 4: 

A company has to make a choice between two projects namely A and B. The initial 

capital  

outlay of two Projects are  Rs.  1,35,000 and  Rs.  2,40,000 respectively for A and B. 

There will  be no scrap value at the end of the life of both the projects. The 

opportunity Cost of Capital  of the company is 16%. The annual incomes are as  

under: 

Year Project A (Rs.) Project B (Rs.) Discounting factors @ 16% 

1 -- 60,000 0.862 

2 30,000 84,000 0.743 

3 1,32,000 96,000 0.641 

4 84,000 1,02,000 0.552 

5 84,000 90,000 0.476 

Required:  

CALCULATE for each project:  

(i)  Discounted payback period  

(ii)  Profitability index  

(iii)  Net present  value  

DECIDE which of these projects should be accepted? 

(10 Mark) 

Question 5: 

M/s. Navya Corporation has a capital structure of 40% debt and 60% equity. The 

company is presently considering several alternative investment proposals costing 
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less than Rs. 20 lakhs. The corporation always raises the required funds without 

disturbing its present debt equity ratio.  

The cost of raising the debt and equity are as under: 

Project Cost Cost of Debit Cost of equity 

Upto Rs. 2 lakhs 10% 12% 

Above Rs. 2 lakhs to upto to Rs. 5 lakhs 11% 13% 

Above Rs. 5 lakhs to upto to Rs. 10 lakhs 12% 14% 

Above Rs. 10 lakhs to upto to Rs. 20 

lakhs 

13% 14.5% 

Assuming the tax rate at 50%, CALCULATE:  

(i) Cost of capital of two projects X and Y whose fund requirements are Rs. 6.5 

lakhs and Rs. 14 lakhs respectively.  

(ii) If a project is expected to give after tax return of 10%, DETERMINE under 

what conditions it would be acceptable? 

(10 Mark) 

 

Question 6: 

(a)  eq[; foŸkh; vf/kdkjh dh Hkwfedk ij ppkZ dhft,\ 

(4 Mark) 

(b)  QSDVfjax vkSj fcyksa dh NwV ds chp esa vUrj dhft,\ 

(4 Mark) 

(c)  iquHkZxqrku O;qRØe ls D;k vk'k; gS\ 

(2 Mark) 
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SECTION - B 

Q. No. 7 is compulsory. 

Answer any three from the rest. 

In case, any candidate answers extra question(s)/sub-question(s) over and above 

the required number, then only the requisite number of equestions first answered 

in the answer book shall be valued and subsequent extra question(s) answered 

shall be ignored. 

Working Notes should form part of the respective answer. 

 

Question 7: 

(a) vLFkk;h fofu;e nj ds izeq[k xq.k D;k gS\ 

(3 Mark) 

(b)  ge ;g D;ksa dgrs gSa fd eqnzk dh ekax] ekax yh tkrh gS\ 

(2 Mark) 
(c)  fons'kh izR;{k fuos'k vkSj fons'kh laLFkkxr fuos'k ds chp dksbZ 4 Hksn crk,aA  

(2 Mark) 

(d) nks {ks=h; vFkZO;oLFkk esa] O;kikj {ks= us 7000 bdkb;k¡ gSa 5 ds vkSlr ewY; ij mRikfnr dha A 

¼v½ mRiknu dk eqæk ewY; D;k gS \  

¼c½ ?kjsyw eqæk vk; D;k gS \  

¼l½ ;fn ifjokj viuh vk; dk 80 çfr'kr [kpZ djrs gSa] rks dqy miHkksäk O;; D;k gS \  

¼n½ O;kikj {ks= }kjk çkIr dqy /ku jktLo D;k gS \ 

¼;½ mRiknu ds Lrj ij D;k gksuk pkfg,\ 

(3 Mark) 

Question 8: 

(a) (i)  eq¶r lokj leL;k dks le>kvksA mnkgj.k nhft,A 

(3 Mark) 

(ii) le>k,a fd C;kt dh nj eqæk dh ek¡x dks fdruk vf/kd djrh gS\ 

(2 Mark) 

(b)  (i)  
fuEu vkadM+ksa ls vf/kewY; fof/k dk mi;ksx djrs gq, cktkj ewY; ij ldy jk"Vªh; mRikn dh x.kuk dhft,A 

¼:- djksM+ksa esa½  

çkFkfed {ks= esa mRiknu dk ewY; 500 

fons'k ls 'kq) dkjd vk; &200 

r`rh;d {ks= esa mRiknu dk ewY;  700 

f}rh;d {ks= esa e/;orhZ miHkksx 400 

f}rh;d {ks= esa mRiknu dk ewY; 900 

ljdkjh gLrkukarfjr Hkqxrku 600 

r`rh;d {ks= esa e/;orhZ miHkksx 300 

çkFkfed {ks= esa e/;orhZ miHkksx 250 

f}rh;d {ks= esa mRiknu dk ewY; 900 

f}rh;d {ks= esa e/;orhZ miHkksx 300 

 (3 Marks) 

(ii) fjd‚fMZ;u e‚My dk ç;ksx djds] ;g crk,¡ fd O;kikj ls dSls nks ns'k gkfly dj ldrs gSa \ fjd‚fMZ;u 

e‚My O;kikj ds çHkko ds ckjs esa D;k lq>ko nsrk gS\ 

(2 Mark) 

Question 9: 

(a) (i)  cká (externalities) ds izdkj crkbZ;s? 

(2 Mark) 
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(ii) o"kZ 2012 esa ns'k A ds fu;kZr ds fy, dher lwpdkad ¼2000 vk/kkj&o"kZ½] Fkk 116-1 vkSj ns'k A ds vk;kr 

ds fy, ewY; lwpdkad 120-2 ¼2000 vk/kkj o"kZ½ Fkk%  

(i) bu vk¡dM+ksa dk eryc D;k gS \  

(ii) ns'k A ds fy, O;kikj dh 'krksaZ ds lwpdkad dh x.kuk djsa  

(iii) ns'k A ds fy, O;kikj dh 'krksaZ ds lwpdkad dks vki dSls le>rs gSa \ 

(3 Mark) 
(b) (i)  lkoZtfud oLrqvksa dh n'kk esa ljdkj fdl izdkj gLr{ksi djrh gS\ 

(3 Mark) 

(ii) jSf[kd miHkksx Qyu ds fy, C = 700 + 0.84; I Rs. 1,200 gS vkSj 'kq) fu;kZr X – M = 100 gSA 

larqyu mRiknu Kkr djsaA 

(2 Mark) 

Question 10: 

(a) (i)  Hkkjr esa dkSu ls {ks= gSa tgka ,MhvkbZ fuf"k) gS\ D;ksa \ 

(4 Mark) 

(ii)  miHkksx dh lhekar izo`fŸk dh vo/kkj.kk dks le>kb,\ 

(2 Mark) 
(b) (i) eqnzk dh ek¡x ds ckn dhusfl;u fl)kUrksa dh xEHkhjrk ls tk¡p djsaA 

(2 Mark) 

(ii) M 1 ds ?kVdksa dh lwph crkbZ;sA 
(2 Mark) 

Question 11: 

(a) (i) fo'o O;kikj laxBu ds çeq[k dk;Z D;k gSa \  

(2 Mark) 

     (ii) ^eqDr O;kikj {ks=^ dk D;k eryc gS \ 
(2 Mark) 

(b)  (i) O;kikj uhfr dks ifjHkkf"kr djsaA O;kikj uhfr ds eq[; çdkj D;k gSa \ 

(3 Mark) 

(ii) le>k,¡ fd fuEu esa ls çR;sd ekeys esa Hkkjrh; #i;k dk fofue; ewY; dSls çHkkfor gksxkA fu;kZr vkSj 

vk;kr ij lEHkkfor urhts D;k gSa \  
(i) gkftj fofue; nj 61@1 M‚yj ls 64@1 M‚yj ds chp gks ldrk gSA  

(ii) gkftj fofue; dh nj 66@1 M‚yj ls 63@1 M‚yj gks xbZ gSA 

(3 Mark) 

 

*** 
 

 


